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BTH% Hit =i B&Et HEE
JIE Hh X /NG 1,034 1,074 2,108 974
I 0 0 0 0
JNE—TH 301 306 607 287

JNBE=TH 295 269 564 273
JIE=TH 220 227 447 208
g™ T B 202 223 425 166

HEEMA 16 49 65 40
R/ X /e 1,806 1,896 3,702 1,911

H/w 11 47 58 58
H/##—TH 344 375 719 366

H/#8=TH 499 490 989 500
H/#=TH 558 562 1,120 543
H/##HETH 394 422 816 444
P X /NET 196 215 411 232
H 196 215 411 232
MHBEE X /NG 4,203 4,348 8,551 4,180
#BES—TH 1,138 1,008 2,146 1,135
#WEAE_-TH 1,417 1,506 2,923 1,337

#HEEAS=TH 1,372 1,513 2,885 1,403
#EASMNTH 276 321 597 305
SHT Hh X /NET 2,542 2,382 4,924 2,675
XHET—TH 1,128 1,038 2,166 1,198
XET-TH 1,414 1,344 2,758 1,477

XET=TH 0 0 0 0
ko B R/ 3,248 3,010 6,258 3,130
&y E—TBH 642 616 1,258 657

¥ByE=TH 791 798 1,589 758
#rE=TH 384 350 734 371

HkoEMTAH 636 546 1,182 575
sy ERTH 795 700 1,495 769

ESNE = 477 459 936 454
EN—TH 103 119 222 104
EJN=-TH 374 340 714 350




ADO#gEt R ERTIE)
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BITH% Hit 4 B&Et HEE
ETREMR/NE 2,050 2,026 4,076 2,211
EXRFE—TH 1,094 1,101 2,195 1,123
EXRF=-TH 929 890 1,819 1,064
EXRFE=TH 27 35 62 24
FEH X /NG 1,630 1,608 3,238 1,622
FE—TH 749 738 1,487 807
PE-TH 270 293 563 275
PE=TH 611 577 1,188 540
Fhih X /e 1,866 1,890 3,756 1,715
Fh—TH 413 434 847 395
FHL=-TH 626 600 1,226 565
FE=TH 541 567 1,108 516
PHEmTH 286 289 575 239
PImEMR /NG 2,146 2,115 4,261 1,890
FmxE—TH 658 638 1,296 639
FMEZTH 513 533 1,046 481
FME=TH 533 505 1,038 402
PmEMTH 442 439 881 368
P X /NGt 1,477 1,317 2,794 1,210
FE—TH 703 609 1,312 585
FE_TH 377 339 716 318
FE=TH 397 369 766 307
WERTHE X /M ET 1,421 1,392 2,813 1,280
WERT—TH 57 44 101 49
MERTZTH 983 963 1,946 863
NER=TH 381 385 766 368
IMEE X /T 3,236 2,942 6,178 3,397
IMEE—TEH 471 415 886 536
IMEEZTH 803 656 1,459 881
IMEE=TH 695 645 1,340 693
IMEETTH 446 434 880 461
IMEERTH 821 792 1,613 826

=&t 27,332 26,674 54,006 26,881




